EE 3340
Homework Problem #036

Determine the phasor values of the mesh currents Iy and I (in polar form) in the circuit shown
below. Show your work.
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>> A=[4+j*3 -j*8; -j*8 5+jx18]
A =

4.0000 + 3.00001 0.0000 - 8.00001
0.0000 - 8.00001 5.0000 +18.00001

>> c=[100; 0]

20.2621 + 1.23984
8.2182 + 2.83391

>> I1_magnitude=abs(b(1))
I1_magnitude =
20.3000 ‘1'\
>> I1_phase_rad=angle(b(1))
Il_phase_rad =
00611 T, n valianwt
>> Il_phase_deg=angle(b(l))*18®/p1
I1_phase_deg =
(_ZJ ‘" cgiﬁrtu;
3.5015 &
>> I2_magnitude=abs(b(2))
I2_magnitude =
8.6931 ~— 15,
>> 12_phase_rad=angle(b(2))
I2_phase_rad =

(]:2— fn rité2rﬁ4»\

0.3321 —

>> I2_phase_deg=angle(b(2))*180/pi

I2_phase_deg = -

19.0256 W=



